2015.11.7
Hiroshi Michiwaki
17
YootnfEl¥oki

EF apq€ C (a#0) Ik LT HEHAEAL

aP-ql =qgrta

LTB. ZoLx,
yies:iil

0°=0
DIV N,

Al q=—p LT D LERLY,
aP -ql = gPt(p) = gp—p = 0
Thb. 22T, a=0, p=1¢T5L, ZOKRGIAND
00=0"1=0"CV=00"1=0-0=0
0°=0
NI UIASTEN |

Rk, ZZTO0 1=0 I uREICkS.
F72, WOBMRADE Y 2O Z EITHEET 5.
limx* =1 (D)

x—-0

lima*=1 (a=0) (II)

x—-0

Jlcin(q)xo =1 (1)
2%, (1), (), UDIZHMb BT, EREFNMY LoD TH - T, 00 X587 Rtk %
PICTOICEEDLZLEER LTS, £ LTCIOMNARERGMEL, 0 1=0 &) P aREom

N REGNEICERT 200 THL Z LICHEELET 5.



